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QUESTION 1

Julie gives 7 pieces of candy to each of her friends. 

If Julie gives all of her candy away, which amount of candy could have been the amount she distributed? 

A. 128 

B. 161 

C. 145 

D. 162 

Correct Answer: B 

 

QUESTION 2

A triangle has two equal sides. The third side has a length of 13 feet, 2 inches. 

If the perimeter of the triangle is 40 feet, what is the length of one of the equal sides? 

A. 13 feet, 4 inches 

B. 26 feet, 10 inches 

C. 13 feet, 11 inches 

D. 13 feet, 5 inches 

Correct Answer: D 

 

QUESTION 3

The product of two consecutive odd numbers is 399. 

What are the numbers? 

A. 17 and 19 

B. 19 and 21 

C. 21 and 23 

D. 25 and 27 

Correct Answer: B 

 

QUESTION 4
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Amy wants to fence in a yard using 400 feet of fencing. 

If she wants the yard to be 30-feet wide, how long will it be? 

A. 170 feet 

B. 175 feet 

C. 180 feet 

D. 185 feet 

Correct Answer: A 

 

QUESTION 5

Four out of 28 students had to go to summer school. 

What is the ratio of students who did not have to go to summer school expressed, in its lowest terms? 

A. 4/5 

B. 7/8 

C. 9/10 

D. 6/7 

Correct Answer: D 
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